

## Clebsch-Gordan 係数

$$|j_1, j_2; J, M\rangle = \sum_{m_1=-j_1}^{j_1} \sum_{m_2=-j_2}^{j_2} \langle j_1, j_2; m_1, m_2 | j_1, j_2; J, M\rangle \cdot |j_1, j_2; m_1, m_2\rangle$$

## 漸化式

$$\begin{aligned} & \sqrt{(J \mp 1)(J \pm M + 1)} \langle j_1, j_2; m_1, m_2 | j_1, j_2; J, M \pm 1\rangle \\ = & \sqrt{(j_1 \pm 1)(j_1 \mp m_1 + 1)} \langle j_1, j_2; m_1 \mp 1, m_2 | j_1, j_2; J, M\rangle \\ & + \sqrt{(j_2 \pm 1)(j_2 \mp m_2 + 1)} \langle j_1, j_2; m_1, m_2 \mp 1 | j_1, j_2; J, M\rangle \end{aligned}$$

## 一般式 (Racah の公式)

$$\begin{aligned} & \langle j_1, j_2; m_1, m_2 | j_1, j_2; J, M\rangle \\ = & \delta_{m_1+m_2, M} \\ \times & \left[ \frac{(2J+1)(j_1+j_2-J)!(j_1-j_2+J)!(-j_1+j_2+J)!}{(j_1+j_2+J+1)!} \right]^{1/2} \\ \times & [(j_1+m_1)!(j_1-m_1)!(j_2+m_2)!(j_2-m_2)!(J+M)!(J-M)!]^{1/2} \\ \times & \sum_{k \in \mathbb{Z}} \frac{(-1)^k}{k!(j_1+j_2-J-k)!(j_1-m_1-k)!(j_2+m_2-k)!(J-j_2+m_1+k)!(J-j_1-m_2+k)!} \end{aligned}$$

例:  $j_1 = any (\geq 1/2), j_2 = 1/2$

$$|j_1, \frac{1}{2}; J, M\rangle = \sum_{m_2=\pm 1/2} \langle j_1, \frac{1}{2}; M - m_2, m_2 | j_1, \frac{1}{2}; J, M\rangle \cdot |j_1, \frac{1}{2}; M - m_2, m_2\rangle$$

$\langle j_1, \frac{1}{2}; M - m_2, m_2   j_1, \frac{1}{2}; J, M\rangle$	$m_2 = 1/2$	$m_2 = -1/2$
$J = j_1 + \frac{1}{2}$	$\sqrt{\frac{j_1+M+1/2}{2j_1+1}}$	$\sqrt{\frac{j_1-M+1/2}{2j_1+1}}$
$J = j_1 - \frac{1}{2}$	$-\sqrt{\frac{j_1-M+1/2}{2j_1+1}}$	$\sqrt{\frac{j_1+M+1/2}{2j_1+1}}$

例:  $j_1 = any (\geq 1), j_2 = 1$

$$|j_1, 1; J, M\rangle = \sum_{m_2=1,0,-1} \langle j_1, 1; M - m_2, m_2 | j_1, 1; J, M\rangle \cdot |j_1, 1; M - m_2, m_2\rangle$$

$\langle j_1, 1; M - m_2, m_2   j_1, 1; J, M\rangle$	$m_2 = 1$	$m_2 = 0$	$m_2 = -1$
$J = j_1 + 1$	$\sqrt{\frac{(j_1+M)(j_1+M+1)}{(2j_1+1)(2j_1+2)}}$	$\sqrt{\frac{(j_1-M+1)(j_1+M+1)}{(2j_1+1)(j_1+1)}}$	$\sqrt{\frac{(j_1-M)(j_1-M+1)}{(2j_1+1)(2j_1+2)}}$
$J = j_1$	$-\sqrt{\frac{(j_1+M)(j_1-M+1)}{2j_1(j_1+1)}}$	$\frac{M}{\sqrt{j_1(j_1+1)}}$	$\sqrt{\frac{(j_1-M)(j_1+M+1)}{2j_1(j_1+1)}}$
$J = j_1 - 1$	$\sqrt{\frac{(j_1-M)(j_1-M+1)}{2j_1(2j_1+1)}}$	$-\sqrt{\frac{(j_1-M)(j_1+M)}{j_1(2j_1+1)}}$	$\sqrt{\frac{(j_1+M)(j_1+M+1)}{2j_1(2j_1+1)}}$